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HEAT ENGINE

A heat engine converts heat energy into
which of the following work?

A. Electrical work

B. Mechanical work

C. Pressure work

D. None

B

Mechanical work | T& heat engine @l
TG O Tl ST § | fuel STefal & | @
Heat energy 3cYool @T—ﬁ %’ | 3R g heat
energy, engine piston FI TeITdr %’ |

fSEd mechanical work fRaT SITAT § |

Which of the following is a type of Steam
engine?

A. External combustion

B. Internal combustion

C. Spark ignition

D. None of the above

A

Steam engine Ush g I external
combustion engine & | s Fgel Fr
engine & FgR STl ST § | hidel &l
JATRT  steam AT ST § | SEd

engine T AT § |

Which of the following is power absorbing
engine?

A. Petrol engine

B. Steam engine

C. Air compressor

D. None

C

Air compressor Ush dig I power
absorbing engine § | S®H &ar H suck
F F 3T cylinder brock H e
compress farT ST g | fS@H power

TRT &Il & |

Thermal power plant is works on which of
the following cycle?

A. Otto cycle B. Rankine cycle
C. carnot cycle D. sterling cycle
B
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Thermal power plants, Rankine cycle WY
FI FIAT & | Rankine cycle T& ideal
thermodynamic cycle § | fST@H heat &7
mechanical energy # convert fRar STar
& | ST 3"H phase change 8T § |

One’ ton of refrigeration is equals to:

A. 14,500 btu/hr B. 12,00 btu/hr

C. 13,00 btu/hr D. 15,000 btu/hr
B

In 1 ton of refrigeration has 12000 btu/hr

. Th ton of refrigeration Adeld 1000 kg
water @I freeze # & faT TSI heat
remove H{AT USATl & | 0°C 9X 24 HUC H

1 ton of refrigeration FgelTdl & | 1 tone
13898 kJ

Combustion occurs in an Otto cycle by?

A. constant pressure

B. constant temperature

C. constant volume

D. constant heat

D

Otto cycle # constant volume H &gl
glar g | 38 cycle &l YA[T automobile H
fohar JTaT § | I& thermodynamic cycle
g | St o Us spark ignition & YuTelr

@ gelfar ¥ |

Combustion occurs in a Diesel Cycle
Engine by?

A. constant pressure

B. constant temperature

C. constant volume

D. constant heat

A

Diesel cycle engine H# constant pressure
H gl 8T § | SEA gaT I U fARead
pressure W compress AT JATAT § |
temperature Sdl g | 3 fuel Fr gg
foRar Sar & |
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Which of the following is known as power
stroke in four stroke engine?

Suction stroke

Compression stroke

Expansion stroke

Exhaust stroke

cCoowmp

Expansion stroke @ power stroke &Y
FEd & | STH piston move FAT § | AT
engine @ UaX fAedr § | sdifow 5@
power stroke E%T—T % |

What is the expansion process in Diesel

Engine?

A. Isothermal B. Adiabatic
C. Isobaric D. None

B

Diesel engine # Adiabatic expansion gIdr
g | 38H ¥ Gas & compress HAT JATAT
g | 3R sTFT temperature FTAT AT &
| JUT 3IdsT e ST § | Gas IRHA

glair § |

Four stroke engine contain values and 2-

stroke engine contain ?

A. Fins B. Notches
C. Port D. Tubes
C

2 stroke engine # port 8ld g [ S 4
stroke engine H values & CAdRT gas Fr
inlet or outlet &r e gaeT fRar Srar %
| 3T & port 81 § | 2 stroke engine # |

Wankel engine’s per rotor has how much
power stroke?

A1 B. 2
C. 3 D. 4
C

Wankel engine & T& rotor d&hi "3
power stroke 8d & | wankel engine T&
TE F internal combustion engine BT
§ | 3H& eccentric design 8T & | &
pressure @I rotating motion # convert

FAT ¥ |
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What is the purpose of the Oil scraper
ring?

A. Retain compression

B. Lubricate cylinder walls

C. Maintain vacuum

D. Reduce piston wear

B

Oil scrapper walls @&
lubricate &dr % | Ig piston F lower
groove H F-ITI'I%' ST & | I& lubricating
oil ® combustion chamber # ST &
Qehell

gl

Thickness of dry liners is?
A. 3mmto9 mm

B. 1.5 mmto3 mm

C. 1mmto2mm

D. 0.5 mmto 2.5 mm

B

Dry liners &I AETS 1.5 mm to 3 mm &

gt & | IE cylinder block & o3t g1 &
| TE& coolant & direct contact H =gl
3ATAr

& | 38 dry linear ®gd § | I§ cooling
jacket & o9 81 ¢ |

What is the size of Connecting Rod?

A. Forged I-section

B. Forged round rod

C. Castiron square section

D

A

ring, cylinder

Forged square section steel

Connecting rod @I WIAWET piston &
crankshaft &I g & HH 3T & |
Sdehl greT reciprocating engine H grar
§ | SHHT 3R forged I-section T gidT
g |

What is the other name of Piston pin?
A. Gudgeon pin B. Crank pin
C. screw pin D. None

A

Piston pin I gudgeon pin #T Fed & |
SHRT hlH gar g | piston I connecting
rod & S FT HH AT § | IAT TH
g & &\ M A B | W W
connecting rod Ej:ﬂ?—ﬂ' g |
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By how much time a camshaft rotates

faster than crankshaft in 4 stroke
engine?

A. 2times B. '2times

C. 4times D. 3times

B

4 stroke engine # camshaft, crankshaft

T 3T speed & %ﬂ?ﬁ & | camshaft gdr
g | 9 W cams s S1d § | S
C.AM & SRT vehicle & 37cl-2 9cH

RED powertng?ﬂé' ST § |

What is the process of making
Crankshafts?

A. costing B. Drop forging
C. Drawing D. Extrusion

B

Drop forging & crankshaft a?rré ST B |
drop forging § metal & IRH FIEh cast
die & dier ST | 3HY §elaT aTel product

FSIg dAT durable g § |

A cylinder has how many value in Four
stroke engine?

A1 B. 2
C. 3 D. 4
B

Four stroke engine # Ucdd cylinder & ar
dled ?IT-T % | T intake value COAY
exhaust value T& aled ¥ fuel forar Jrar

g€ | @ ¥ exhaust gases H TER
GEAGIRCIG I

In modern 4 stroke engine, inlet value
dissolves___ .
A. Before T.D.C.
C. Before B.D.C
B

3megfaeh 4 stroke engine # inlet value
el § ¥ & T.D.C. W Tgad &
§ig | T.D.C. &l HAdeld Top dead centre

31X B.D.C &T AdeT bottom dead centre

Cylinder block is made up of?
A. Grey cast iron

B. Steel sleeves
C. nickel

D. chromium

B. After T.D.C
D. After B.D.C
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A
Grey cast iron & cylinder S ST g |

Fhifh cylinder & piston BT FT TeIdT g
AT i e gar § | S9HT wear
resistance dUT wearing ability 8T SJTer

gt & | sEIfaT grey cast iron &7 9T
foRaT ST § |

The wind bubbles in the
represents the cause of:
Cracked block

Blown head basket

seized block

Lack of engine oil

radiator

o0 wp

Radiator # &al & gelgel blown head
gasket @ gAY & | o & g & rare
case § | St & cylinder head & g1l § |
s 3TAR TG § | fF basket # sEor
ol AR |

Spark plug is plugged on?

A. Cylinder block B. Cylinder block
C. Crank case D. Piston

D

Spark plug piston head & 37€¥ o9 I&dT
& | spark plug &T FF 8T & | fuel Fr
SFATAT S fuel compress 8T & | ar
temperature §¢ ST & | spark plug

RIRY ¥ T § | PG STorell & |

Why is  cylindrical head casted
separately?

A. Good compression ratio

B. High efficiency

C. Prevent collision

D. Easy removal

D

Cylindrical head 3TeleT # cast ah

sEfav S ST § | FEife s
EET ¥ g S Fehar § | 3R afs
spark plug, injector, flow of water gl &
positioning T ST Tk |
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What is interpolate at bottom force of
cylindrical block?

A. erank case B. ailpan
C. piston D. cylinder liners
A

Crank case, cylinder block % bottom part
W @M /AT & | S f& base of engine
FI HTH AT § | S & crank shaft and

cam shaft @& support 3T & & |
Which part of the engine is working for

cooling and ventilation to lubricate
engine oil?

A. Crank case B. oil sump

C. cam shaft D. piston

B

oil sump @I ail pan 8f #gd § | o &
crank case & 3T #T9T o &Il & | I8
main casting & lower case & HTY ATAT
ST & | $9H TRT lubricating oil ST#AT
@ ¢ |

Which amongst the following makes
passage for water cooling in engine?

A. cylinder block

B. cylinder head

C. crank case

D. piston

B

Cylinder head 33 & combustion

chamberﬁ@?mﬁ'lsﬂﬁpassages
@ﬁ%ﬂﬁﬂﬁwatermﬁlmﬁ
g B BT & | IR G Hw
overheating &I JhdT & |

For maintaining compression in engine

cylinder, which of the following is
inserted between cylinder head and
cylinder block?

A. gasket B. rims

C. cylinder liner D. invour strut

A

Gasket oM@l & | gasket W special

varnish o9 § | 39 ot IRA Bl ¢ |
ar g IEBEETS cylinder head or cylinder
block ® #e & & § | 3 I@ high
Temperature @ T =it T@eT § |
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Why cylinder head is being made with
aluminum alloy?

A. light weight

B. high thermal conductivity

C. less corrosion rate

D. cost

B

Cylinder head, aluminum alloy & &TT
STd § | 37 W grey cast iron &I coating
off It & | 3HET thermal conductivity
high 8idr & | 3R Jg 1000°C &1 dM9ATH
M Hgd H FHAT § | I§ Herar 3R
deform &7 =gr 8T § |

What is the highest efficiency of a
combined cycle gas turbine, (steam
cooled).

A. 20% B. 30%

C. 40% D. 60%

D

Combined cycle gas turbine &I 3Tad#d
T&TaT 60% Bidl & | U steam cooled
gas turbine, combined power plant &
T*ITI'I? ST g | 3HH TH bailer & steam

EaRT turbine &I 33T fohaT ST § |

Which of the following does not consist of
diesel engine?

A. BUS B. Truck
C. Bike D. None
C

Diesel engine bike H &N &l & | 3T

petrol engine BIdT g | Diesel engine
mainly §3 Sl & ¥ H HH AT ¢ |
petrol engine $T gdATGe BIE éda-l F &I

A TG BT § |

Self-ignition temperature of diesel oil
is_  compared to petrol oil.

A. High B. Low

C. Similar D. None

A

Diesel del @I self-ignition dTIHTT Ugrel
A & AEEA A @A § |
Diesel oI gcged High compress, high
temperature arell 4T #H @IdT § | Siafsh
gl T gaT o ITT mixture AT SITAT
g |
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When was the efficiency of Jet Engine is
highest?

at low altitude

at high altitude

at low speed

at high speed

00w P>

Jet engine & TEH TG G&ll SIIEl
U8 W W@ A fATAr § | Jet engine
U& reaction engine BT g | fo@s
Thrust 3cde<T gIdT & | propulsion &,
Which of the following is the starting
motor in automobile?

A. Induction motor

B. Squiral case motor

C. Synchronous motor

D. Series motor
D

derEsdT #  Starting  HIE,
motor ﬁ?ﬁ % | Tk DC series motor
electrical energy @I mechanical energy &
convertﬂﬂ?—ﬁ%’lﬂ?ﬁﬁ?@ﬁ%l
@ff motor o 3T&TT |

Gas turbine works on which cycle?
A. Rankine cycle

B. Carrot cycle

C. Otto cycle

D. Brayton cycle
D

series

Gas turbine, Brayton cycle WX Teidl & |
IJg UH YASSAAS cycle & | S
constant - pressure heat engine Y{ hIH
T & | modern gas turbine engines
3R air breathing get engine brayton 9
HIH AT ¥ |

Blade of turbine is made up of?

A. Castiron B. Nickel alloy
C. stainless steel D. Alloy steel
B

TREST $I sI5 Nickel Alloy ¥ &t gt
¢ | FifH Tg Hslgd glar & | 3R goler
oY 81T & | 39 W ST AL 90 & | 3R
High temperature strength &Il & |
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What is the full of L.P.G?

A. Liquified petroleum gas
B. Low pressure gas

C. Light pressure gas

D. None

A

L.P.G. &I HAddd Liquified petroleum gas
Ig mixture BT & | hydrocarbon gases
F ST propane or butane 3@'@ ozone

layers 9T IS YT oIl ISl ¢ |

A Safety value which is used in high
pressure bailer is known as:

A. Dead weight type

B. Leyer type
C. Spring type
D. @IS slgr

C

High pressure boiler & spring type,
safety value &I YIWET BT & | S+
spring grar
& | 59 8 pressure ST § | dr spring
38 ST ¢ | 3R gas Aerer St £ | T8
g g 37T safety value 8T § |

Low grade fuel are:

Low moisture content
Low Ash content

Low calorific value
Low carbon content

cCoowp

Low grade fuel & calorific value g FA
gt & | calorific value AT T&H same
quantity fuel & Fad W AT W
T heat TR & | 33 calorific value
Fed § | 39 Joules/Kilogram H cJad

RIT ST ¥ |

Which kind of bailer gives superheated
steam?

A. Locomotive bailer

B. Laneashaire boiler

C. Cornish boiler

D. All

A
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Ans.
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Locomotive boiler, superheated steam

SaT § | 39 Uil @ IRA Fh steam
FAS ST § | 9% fAT solid fuel Fr
ST Sl & | S@H tubes Bl & |
Sieter arelr 8ar § | 3R tubes IRHA grdr

& | steam ST § |
Water gas is the mixture of?

A. CO and H; B. N;and H;
C. COz and N2 D. CO:z + SO3
A

CO 3k H, # water gas #8d & | CO-
monoxide 3i¥ Hydrogen T
AT 81T & | S steam H coke &
30 & IEIRT ST § | o water gas &g
g |

Where is Steam Trap being used?

A. Condense the steam

B. Add moisture to steam

C. Separate condensate from steam
D. Superheat the steam
A

carbon

TEH Trap ' SHIfT JAWET fhar S1am §
| a1fh steam AT ¥ condensate (=T Fr
9¢) @ e fRr ST o®@e | @
automatic value Bl & | ST 39« 39

open, close and modulate G %’ |

Which of the engine uses two fuels
simultaneously?

A. multi-fuel engine

B. Duel fuel engine

C. Wankel engine

D. None

B

Duel fuel engine, simultaneously & Fgel
PN JINET HIAT & | STl Bi-fuel engine
sff #8d & | S internal combustion
3T A §H Diesel 3 petrol & &Y
UAET Fd § | JdUT TS alternate fuel
Gas, L.P.G. or hydrogen &I & 92197 axd
gl
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2nd law of thermodynamics shgdl %} | IE3
et cI(\'ccf thermodynamic cycle & =T
FSAT & AT § |

A. equal to zero
B. greater than zero
C. less than zero
D. infinite

B

Ug Greater than zero Bl § | 2

thermodynamic | & 3-1@1'41’( foreT
FFQOT thermodynamic cycle A fScelr
FSAT & ST & | AT work input & STAT
€ | 98 §HAT ‘o’ ¥ 3T BT § |

Entropy is constant in which of the
following?

A. Isothermal B. adiabatic

C. isobaric D. iso-choric

B

Adiabatic process ®d entropy constant
TEdr & | FOifed 3T system A FIS heat
3R mass exchange aﬁ‘r gld %’ | system

constant IEdT & | SEIfT  entropy
constant IgaT & |
What is the Value of universal gas

constant in kJ/mol?

A. 10.314 B. 7.314
C. 8.314 D. 9.314
C

8.314 gdr & | 39 molar, universal, or
ideal gas constant $f #gd § | 39 'R’ &
denote fFAT STAT § | IE Boyles law,
Charles law, Avogadro law & &7 wer
feram ST ¥ |

In which system there is no mass
exchange, but energy is exchanged?

A. Open system

B. Close system

C. Insulated system

D. Isolated system
B
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Close system # mass exchange &l aid

g | 9¥ energy exchange gt § [
surrounding & &I 3‘? close system

#gd ¢ | 3 3H isolated system &1 &gr
ST

g
how fuel is inflaming in Diesel engine?
A. Spark

B. Injected fuel

C. Compressing Air
D. Ignition

C

Diesel engine # fuel compressing Air T
Aee ¥ Sfeldl § | Fo 1 A Air @
compress fHaT ST & | SEa 39
AT A @HT % | Temperature d¢
ST § | 3R diesel & inject 81 & STl

AT § |

Breaking a liquid in droplets is known as:
A. Vaporization B. Carburation

C. Injection D. Atomization

D

fdT Liquid T fine droplets & disaT,
spraying % JIRT atomization FEATAT & |
Uil @I IRHA S vapor H FGoleT

49,
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50.
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vaporization hgelldl & | gdel 8l ¥ do
FI fAFTT injection HgeTar & |

Air fuel ratio in Petrol engine is controlled
by ?

A. Fuel pump B. Governor
C. Injector D. Carburetor
D

sa+ folT Carburattor &7 ST fowRar
ST § | carburattor T mixing chamber
T WG FT HAT ¢ | TGH fuel + air Fr
mix X ol H AT ST & |

A heat engine is uses which of the
following?

calorific value of oil

low heat of oil

high heat value of oil
mean heat value of value

cCoo® P

Ush Heat engine, high heat value of oil &T
9T AT & | SHH heat & &anT, AT
heat &7 form & use FIAT & | TE heat

energy FI mechanical energy # convert

HAT & | SUHRT TAET bike, turbine, jet,
aeroplane & 9T fhaT 1T § |
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